Question 1)

The fourier honsorm  of o s?am\ s
X(e*) = L 1L ™l
4 - e?

(@ Find L sketch Re ix(dwg 72 ([ Fd

cos (w) - 53‘9“(‘”3

-
-

[

(&) =

1

X(e*) =

m&o
-»

To vemove the: :\’M(,\a‘(mfé ‘?oxk Gom

1

d
[ ———

1 - %((‘,os(w) —js'\’n(w»

1 ~Leos(w) ‘\-3':4 sin(w) .

1- e(CoS(@) - 545?\!\(\93

2w & sketda 5M3,7(@}»)?5 1

4 - «cos(w) + 5°Ls‘iv\(w)

Aenom?nm\w

1 - ocos(w) - 54 stn(w)
4 — Xcos(w) -—,ietsi’n(uo}

X () -
1 - (eos(w) "TX"(;&((

1 - «cos Cw)

3~ ey L ) () )

X(e") =

1 -« Cos(w\—

1- L Keos(w) oL Feos(w) -/3

X(et*)
e ) 1 - 2 <eos[w) ¥ X

{ - cos(W)® §

% Sitlaé(w);{n(w)
- 5 st () - - i; £ sin(w)
Lisin'(w
0
*(cost() % EO)

s'\’n(w)

X(e'sw) =

(_PNo imagirary bowr

—» Now WwWe con S\)\‘\‘k ' 7((64"))

4 - o Co;(u))

X(e*) =

W
Real Part

ot veol ard (oA

1 -Qsteos(w) + oL

Po\ft-

s?v\(ob)

Bmaé iwa fark

[-]

&



mghoD
& Dicet Brmola method.

[ - £

Reix(eﬁw)g = (X(eiw} * X(65“5*>
eND _ 4

Ref x(cH) - %‘[iigw T—T]

W 4 1 - ~L A

Re? X Wy = 4 ~-«Le ’
e%_ (?- ii (1 ¢61w>(.4_ ‘(ed ) )
‘ | - Qaice X cos(w) - L ;,K(w) o4 - cos(d) ¥ Gin(w)

Wy = i S -
RQ%,X@ % = 4_ eI - el y e5 e

-2 < cos(w) T
- ) +cos(w) * 55"\(““\) xut( e >

AW = ,j’/' ¢
Qe 3_ 7((65 3% 2 1 - & (cas(..h -5sm(

N j. A - st(wﬁ
RgiX(eb >§ 1( QA cos(W) ¥ <"

2N . j_«o(cOs(uD
N e L

b § %()8 ( x(eH) - Meﬁ“’»

6w\c‘i X(eryg \V ) L€ 5“’ /X




©) Find £ Skekth X 1
X = X fc@}

e ——————

v ~ 1 ’ N
lX(eﬂw)\ - Yi R e—jw 1 - o(e?\“’

. ’.__-—-—————""’"'—
‘X(Cs)) \ 1- e 5‘”-,463 C e

X 3‘“’ - 1 ‘kz
‘ (ﬁ )\ {1—-1“63“”‘0(6'5‘” + o(z‘

N i

y 1-= (C"S(‘*’) *ijﬂ(w) -t-cos('w}—-asfn(w}) r

X()] - |—= ]ny
1 Q°(Cos(w)+°( PR A

@) Find b Stetch IX(¥) 1
LZ_,&’“) =i %iXCeJW)})

RQQ\§ XGS )g
oy sta(w) 9
(eJ"’) W b . g (w) \
e () 1 - <cos(w)

W




@ h[n] = oln]  Bnd e 00\?{)0’( zﬁn] and the difference e%)aHov\ descrﬂ:i’v%
o the ng\emz

~» ConvoluWor\ n Mime dorln s ""U“ﬁ’\im\{w in p"‘if’e“c‘?s dormolin.

H(el‘”) = b jw assUm‘\’vLa bl <1

5 V() - n(eaw) %(e3) |
" ~ 1

w / 5 /"—__——_-:-:-

[Co RN v v RRTE L ICE

¥ Usw% W chmihm o st:ﬂxtde fe ()
A %

i A - w

W e ) 6

5“’\ + B(i’be{s) agd’ s 4

\Wg
o M0) - 2 s

A(i"ae




H(&”} - \/(eﬁ“’} = -/’i’:j';o

X(e3w> 1-be

‘/(ea “) - 7(63”5&3 &

TFT

at\,\'ga b wéinai_& = x]n]
MW 41
2,3091y2,4,0,-4]

Question ) ket X(3) dencbe the Foocler e of aln] = §-4,01%
Find \X(e;““}l when w=0 %
wnlz - $Ln+3] +flnst] 28] + 14

= X CCM

—1—] + 1«“}:’3] i QS{n-Q%*-iSIn-s'l = 15[!4:‘}}

. 400 o
X(eﬁ”}: Z 7“»[‘“3 Coum
ne - ° 3
Nz oo Z ﬁ[n} - -1 +1+2+1+4242+¢1 -1
n=-3

X(e)» 2+ e’ =

n=-

l X (%) = él




Queskon 3) An 1dead low poss Hlter H(g3“> ;,;&k et -off feguency e, TF the
oo\:Pot Rr some Tapot 1S 3fve\r\ ba 3[n1= ‘i t l: ui:,;i: . What iy ’fke'
ovda bossibe  valve  for we?,

F S

L v

we We

f/ Sharp an-Q.

Lows pass

BAD 0 — Fil\l?:‘ o it
So Hne ooktx& lOo\Qs \\kQ W\K, "‘Yoh oy

%777// .

we bk”- 5\

reJ(;fes a/\ko\ ol

8t can be
%Iﬂl: 1 |nl <3
%0 oHierwise
XMy = Sin (s+/>>
S )

\ds
S‘M&:\\v\a 'WUL S\Uwa& 'R’\YQQ V\S b (‘ je

9t Cow\ be rer)resm\“d a3

Yﬂl o &n&6
O Dn«cr\»se ¢

W ‘JwB W ‘ﬂ ) 3w
o (9

3 hmes
chift

(Sqpareivave)
W ‘&Q 00‘1"*)
:): :M ™ mk\‘w o ‘
allowt vev\a mbro‘(’ ob . | Q\oa?ra a\ ?f@y«wwe i)

which J&;&ONWP:;S é\"fr\oj ast Bller s not dow‘-@
Y

%’GWC h
© o by. Now Hhts is 6\«%\3035 *u‘x‘m” $




Question 4’> Whay s the ﬁr{alvema

Wﬁ«mbgg

/

),Qs?onje H(eﬂ"‘) of the 44 -point movi’u?r

xin'kj 7
K'D

H[u]

~—+

e

A

A ufw)- $[w)

R P

Ko

“M

ZV///// A,

lo

e me take fhe ‘ﬁlow\\'\% s?awxﬁ

s [v\]

////////

5

"

‘b

ngie
h[ﬂ}: {%ﬁo =
(o]

oHneerse

Her)-

12 L£ws
{M’) i otherw ise
gy = sin (wi)
SI'V\ Cw/2>

let me shift s nr@Q T wmib b VTW

RN

lo

e

H@“’ 4 o 4 KB
S{Vq i i o pHhensise

s(eX) - stm(w%) LT
‘ th(‘*’/,r)

| S (’MH> e.-S'j‘w

sin C"’/q.)




@ \X(ci“’)\

@ L§_Ce5"’)

ColiviuUuilteu Lly walliovaliiivl 1iuvlilii IIILQIu-\l\JIII



